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(1) Answer all questions.
2) Each i 1
( ach question carries | mark. There are no negative marks

(3) Answer to the s
questions must be entered only «
- ¥y an UMR r . C 5
separately by Completely shading with Ball Point Pen ﬂlllaﬁ:::;‘f;:’l Shect provided
¥.

4) The O : : . .
(4) ﬂf:"lR Answﬁr Sheet will be invalidated if the circle is shaded using Pencil
more than one circle 1s shaded against each question SRR kA

Section A : Mechanical Engineering

Atomic packing factor of BCC structure 1s
(1) 1 (2) 2 () 3 (4 4

The correct sequence of operations in powder metallurgy process is
(1) sintering - compacting - atomization (2) atomzation - compacting - sintenng

(3) sintering - atomization - compacting  (4) compacting - alomization - sintenng

The eutectic reaction in [ron-Carbon phase diagram refers to. when
(1) liquid metal changes to cementite and austenite

(2) ferrite changes to cementite and austentie
(3) austenite changes to ferrite and cementite
(4) cementite and ferrite combine to form austentte

Ageing is a term which is mostly associated with
(1) precipitation hardening {2) carbo-mtnding
(3) oilquenching (4) normalizing

A mechanism has 7 links with all binary pairs except one which is ternary. The number of

instantaneous centers of reaction will be
(4)y 28

(1) 13 (2) 14 (3 21

Which one of the following is false for instantaneous center of rotation?
(1) At the instantaneous center of rotation, one rigid link rotates instantaneously relative to

another for configuration of the mechanism concerned

(2) At the instantaneous center of rotation, the two rigid links have no hinear velocities
relative to each other

(3) both(l)and (2} are true

(4) both (1) and (2) are false

156 PT.O.
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is the angular

the angular velocity and CLay

Ina link AB. the part B moses relanve to A 1Hons

acceleration. the total acceleranon of B relatve to A il
() gy x AB+ X Al

be

(h f’%m: * AB + e Al
x AB+axAB

(]

I|Il(f.i)._l,1”: X";l{f} +r.f/.-"'! .!‘.f 1."' (l")a_“

(3

Power transmitted by aninvolute gear 15 given by

(I, by v arc Tangenual force. Radial force and veloaity respectively
2y P=Fpxv

(1) PsFpxv
Ir-';} P-—'lr}'r‘i'l".R'xl' Il} Ijzr['|—[5{]!1'

In areverted gear tram
(1} The axes of first and the Last gear are parallel

(2) The axes of the first and last gear are co-axial

(1) Onegearis always fixed
(4)  Speed of last gear must he higher than speed of the first gear

[n a reciprocating horizontal engine. the inertia forces due to reciprocating mass help the

piston effort at
(1) ®=30° [ =l 3"
(3) =120 (4) B =180

When the frequency of external exciting force 1s equal to the natural frequency of vibration of

the system,
(1) the amplitude of vibration is zero

(2) the amplitude of vibration 1s insignificantly small

(3) the amplitude of vibration is very large
(4) the amplitude of vibration may be large or small depending upon the magnitude of frequency

A mass m attached to a shaft rotating at radius r from axis of a shaft is balanced by mass B at
radius b from axis of the shaft in the same plane of rotation. The necessary condition of

balancing is
(1)  mar=Bwh {2y mr=Bk
mar  Bw? m r
(3 =— : e
) r b (4) B b
4-C
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A cotter and key can be compared by winch of the follow g <tatemen
{1y Cotter 15 used to connect a rod which s subjected wo anl loadime. whereas keys aie
used mn for twisting moment ‘
b e " - * 3 . B
{2y Cotter are used to connect shatts tansmtting twostmg moments s hereas kes - are wsed

for axial loading
{3y Both cotters and Keys e used Tor axed Toadimy
(41 Both cotiers and keys are used tor twasiing monient

Which one of the following holds true tor coupling and clutch
(1) acouphng cannotbe engaged 7 disengaged frequemly
(2) aclutch can be engaged /disengaged trequently

(3) both (1) and (2) are true

(4) both (1yand (2) are false

Idler pulley in beltdrives is used when

(1) high velocity ratno s desired at a long distance
(2) high velocity ratio is desired af a shortdistance
(3)  when long life of the beltis desimable

(4)  high forces are required 10 be transmitted

Velocity ratio of a flat belt drive with pulley radius Ry and Booheltinchness s and shp

factor 's" will equal

jH..-yf R_-il'
L]+ Dbl ) ) ViR =— o+ 4
(y 2H|+r“+” T R, =1
K-+ 21 Y, S
VR = (] ; VR = il =)
@y VR=p 7" " (38} 2R+

The force required to move an object of - Newton downwards with the help of a powersorew

with o angle of friction and o helix angle of the screw will be
(1) Ftan(o-0) (2) Ftan(@+u) (3 Tunoxo  h Flanto/o)

Net reaction of ground on wheels due to gyroscopic couple due to wheels and the dead w creh

and centrifugal force of a vehicle negotiating a curve
(1) increases on inner wheels and decreases on outer wheels
(2) decreases on inner wheels and increases on outel wheels

(3) decreases on all the wheels
(4) increases on all the wheels
PTA
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N

In a flat pivot beanng. the total moment ot Inet
(1) for umform wear 1s greater than that for u
(21 tor umform wear is lesser than that tor amorm

(3)  tor umform wear is equal to that ot umtorm pressuic
Hare or less and cannot be predicied

jon toree
mifonm pressuiv
i‘lr{_‘ﬁ.‘tﬂlt'

() for uniform wear mas be

tor steads thow
e and leavime
§ mass of flind

First law of thermody namics
A control volume

(11 accounts for all energy enteril
(7} 1s an energy balance toraspecihicd
(3) s pnmanly concerned with heat translet

of the conservanon of Lipesn mome ntuim

{4) 15 an expression

amot ovele e
P o senetrie and tao isothermals

The processes of a C
nd tw o sothermals

(1) twoadiabang and two sothermals
(3)  two isothermals and two entropis

(2

(4 mwosobang a

Kelvin Plank’s law deals w ith
(2 conversion al mass

(1) conversion of energy

(31 conversion of heat into work (41 conversion of work into heat
What 1s the highest possible theoretical efficiency of a heatengine operating with a hot reservoir
527°C. when the cooling water is available at 2750

of furnace gases at
(3) 066% () T5%

(1) 33% (2 50%

Which of the following statements 1s COMmect
Dew point temperature can be measured with the help of thermometer

(1)

(2) Dew point temperature 1s the saturation temperature corresponding to the partial pressure
of water vapors in moist air

(3) Dew point temperature is the same as the thermodynamic wet bulb temperature

(4) For saturated air. dew point temperature is less than the wet bulb temperature

When the fuel is bumed and water is released in the liquid phase, the heating value of fuel 1s called
(2) lower heating value

(1) higher heating value
(4) latent heat value

(3) enthalpy of formation

The clearance volume in reciprocating air compressors is provided to

(1) reduce the work done per kilogram of air delivered
(2) to increase the volumetric efficiency of the compressor
(3) toaccommodate valves in the head of the compressor

(4) tocreate turbulence in the air to be delivered

6-C
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Thermal efficiency of closed cydle i wirbine increases b
th reheating {2} intercoolhing E4E revenerator by all et the aby

d ! i Tk oAl e
Inatwo stage gas turbine plant with intercoohng and re heatg

(1) both work rauo and thermal efticicncy nmprove

(2)  work ratio improves but thermal efficiency de e
(3) thermal efficiency improves but work ml:;. decrease,
(4)  both thermal efficiency and work rano decreaee

Ina turbo—prc:-p system, the cxpansion o1l gases takes place o the tollow g manner
(1) 80% in turbine and 20%% 1 nossle €2y 0% moarbine and W% innozele
{3) 60% in turbine and 40% n nozzle Che AU i tarbine and S0 noe sl

The value of reheat factor in steam turbines normally saned froin
(1) 042t00.64 (2) 061w 0K () 102w 106 tdy 1T 2wl

In Rankine cycle, the work output from the turbine 15 given by
(1) change of internal energy between inlet and outlet

(2) change of enthalpy between inlet and outler

(3) change of entropy between inlet and outlet

(4} change of temperature between inletand outlet

Fin effectiveness equals
heat transfer rate from fin surface

(n heat transfer rate from a standard fin but of the same size

heat transfer rate from fin surface
(2) 100

heat transfer rate from fin surface
(3) heat transfer rate from andentical fin of infinie thermalconductivity

heat transfer rate from fin surface
(4)  Leat transfer rate from an identical fin made of copper

Fundamental laws used in heat transfer are
(1) The laws of conservation of mass

(3) Lawsof thermodynamics

(2) Newton's laws of molon
(4) All of the above

- P.T.
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For incompressible flow . the pumping power 1s given by the expression
(1) (Pressure dropt x (volumetne flow rated
1) tAverage pressure kb x cvolumetnie flow rate )

b Pz xeAverage pressure t x s olumetne flow rate)

(41 3axpressure dropo x v olometne flow rate)

[n case of bult-up edge in a machiming process, which of the bollow me statemenis s e
(11 lts anedee provided on the ;LHI-!]]_EE tool by the tool manulaciuret

(2)  [teonsists of lavers of matenal from the worhprece that are aradually deposied on the tonol
{3y Athick hE_IIiI-L.IT'1 L‘d&__‘u I~ desimble and HMPToVes CUTHNG e eney

(41 A thick built-up edge improves the surtace fimsh ot the muchined surtace

Select from the follow g ascendine order of cutting too] matenals hardness
(1) Ceramics - High carbon steel - Hich speed steel Diamond
{21 Ceramics - High speed steel - High carbon steel Diamond
(3)  High speed steel - High carbon steel - Ceramics - Diamond
(41 High carbon steel - High speed steel - Ceramics - Diamond

Which one of the following 1s true in case of tool life
(1) Itis directly proportional to the cutting speed
(2) Itisinversely proportional to the cutting speed

(3) Does notdepend on the cutting speed
(4)  Noeguation s available that helps roughly calculate the cutting speed

Select the correct sequence of manufacturing processes in the ascendmg order ol accuracy
(1) Reamng - Homng - Bonng - Dnlhing
(2) Dnlling - Boring - Honing - Reaming
(3)  Dnrlling - Reaming - Boring - Honing
(4)  Drilling Honing - Boring - Reaming

Knurling process is used with a purpose 1o
(1) Generate a rough surface for gripping (2} Tomake tapered hole ina par
(3) To create stepped hole in a part (41 Itis another name of tappmng operation

What is the meaning of the following NC code statement - N20 GOTX 20Y 10
(1) Statement number 20 move the tool incrementally by X=20, Y=10and Z=0
(2)  Statement number 20 move the tool to X=20 and Y=10. Z=0 position

(3) Statement number 20 drill a hole with dia = 20 and depth = 10

(4) Statement number 20 drill a step hole with dia 20 and 10

8-C
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b ] % r
20 pnnciple of lecanng the job i g fisore TCUre
) b ]
vy usimg 302 and 1o pins on thive sades of the job
B <
=0 wsang S sades tor the base, 2 on the topand 1 on the wide

(A Using b pris tor the base and 2 and 1 on sudes of the job
(4 using S ans tor the base, | on the top and 2 on the sade

Reand the tollowme statements with respect o Casting of parts and select the correct answer

2 Shnokase allosw ance tor a g astinge are independent of the castinge maternial

by Distorton allow ance s provided 1o those castines which L-\t“h;[ unttonm cooling rates
in ther sections -

ot Shakig or rappine allos ance i~ anevans ¢ allow ane e

Jv Drartallow ance s provided o only those walls of the . asting which we m the direction
of disengasement of cope and drag

chy o Only staenments coand (hvare tue 2y Ondy statements (b and (0 are true

(30 Only statements (oiand tdyare rue o4 Only statements cad and oy e wuoe

A nser compensates for the shnnkage that happens i the castine provess dunng

(1Y only molten stage i 2+ onhy sohiditicanon stage
(31 sohd stage {41 both molten and sohdification staze

In resistance welding
tEy voltage and curment are hngh 020 voltage s hngh and current s o

130 voltage and current are low e voltage s low and cwrent s aeh

Themut weldimg uses anunure of the tollos g

Yy mon ovade and sodium C2 ron osade and alunumum

(3 ron onde and alunina i+ ron. mokel and magnesium
Which of the followine resistance welding processes essentially uses wheels as elecurode
i 21 projecuon welding

(1 spotwelding
i4)  tlash butt welding

(3 seamwelding

Composttion of most commonly used soldenng alloy s
(1Y Tino*T and Lead 40% (2 Tin 50% and Lead 50<%
(3) Tin407% and Lead 604 (4} Tin 35 and Lead 65¢

Which of the followng statements is not a sheet metal working operation
(1) perforating {21 notching (31 shtung 141 upsetting
Which one of the following is most suitably applicable for a five axis ONC machime

(1) it has three rotational and two translation axis
(2) it has three ranslational and two rotational axis
(3) is 2 CNC machine w here machining can be done 5/3 times faster than a 3 axis machme

(4) isuseful only for complex geometry parts and normal 3D parts cannot be machined on 1t

q i EI PtT-O .

(MECH)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

50

LA
b2

53.

54,

RBookletCode :

Taguchi loss function 1s

15 a good method of production planning
1s commonly used in inventory control

15 a good method of production scheduling
aconcept used in tolerance design

il
12}
i3
P40
(41 3002

cvele s

Heat supphed (kJ kg -1 1o the

2372 (2) 2576 (3 2863

()
: -or each kg
Consider an actual regeneratve Rankine cycle with one open leed water heater. F{; P
: ; : . 3 ¢
steam entenng the wrbine. if m ke steam with a specitic enthalpy of hy 1s bled frof .
' : : 1f1
turbine. and the specific enthalpy of hquid water entenng the heater 15 ha, then ha specihic

enthalpy of saturated hquid leaving the heater 1s equal to
21 hj=mith--hy)

1!] mh|—{h:—hj:'

(3) h;=-mthy-hy) (41 mh>-{h.~hy}

What is the efficiency of an ideal regenerative Rankine cvele power plant using saturated
steam at 327°C and pressure |33 bar at the inlet to the turbine and condensing temperature of

27°C (corresponding saturation pressure of 3 6 kPa)®

(1) 92% (2) 33% {31 S0% 4y 424

Which one of the following 1s the correct statement”
The degree of reaction of an impulse wrbine

(1) 1sless than zero

(2) 1s greater than zero

(3) 1sequalto zero
(4) increases with steam velocity at the inlet

In atwo-row Curtis stage with symmetncal blading

(1) Work done by both rows of moving blades are equal
(2)  Work done by the first row of moving blades is double of the work done by second row

of moving blades
(3)  Work done by the first row of moving blades is three times the work done by second
row of moving blades
ork done by the second

Work done by the first row of moving blades is four times the w
row of moving blades

(4)

H-C
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In athree phase by
i nase balanced Je)
e “'ﬂ-‘“”lLk'I‘
. . . ed system the ‘
[hur I'L\[‘H._‘LIHL [1h g CUITENLY gn given |-H‘ L the |‘.Ihﬂﬁ{ |1_-|.||H|r|h{-t.v,ﬂ.|.“ bine MR

| I | Il" 5 1 T
wurrent ] l‘ h‘l. |'|| [l 1.'“- IT e “F'H..'., bl e 1"'1-]‘1'._ e r Wi
e IT ""f

(2) line

1 ©currents lag behind ther respective phase currens by 66
g % o ’. :I

(3} hine currents lead their TUspective phase currents by 30

(41 line curre
ne currents lead ther respeciine phase cunents by 6}

The pomter of an indicating mstrumen soeenerally made of
(1) copper (2 alominium (31 silver Y el

The matenal used mostly in makimg standard resistor 1y
(1) constantium (2 maganm
(3) nmicrome o pold chronuum

If an alternator 1s operaung at a lagging power factor the voltaee reebatrom woll b

(1) always positive (2)  always negatinve

(3) zero (4) independent of power tacton

For lathes, pumps and other constant apphcations. the type o niachine ucd 1
(21 d senes moto

(1} 3-phase inducuon motor
{4y synchronous moton

(3 dc compound motor

wh od SN

A simply supported beam of 2 m length 1s apphied with unitormly distibued Lo,
through-out It 1s also apphied with a point load of 1 kN atits center The masimum bendun

morment 1n the beam will be
i1y 2kNm {2y 3kNm {3 4kNm (dy  SkNm

A steel rod 20 m long 1s fixed between two ends The stress mduced i the rod when

temperature 1s increased by 1007C 1s
(1) 06GPa {2y 08GPa (3 1 0GPa t4) 12GPa

A beam of rectangular cross-section of breadth 10 ¢m and depth 20 ¢moas subjected o
bending moment of 20 kNm_ Stress developed ata distance of 10 cmbrom the top face of the

beam is:
(1) Zero (2) 10kPa (3)y 20kPa (41 30kPa
Compare a circular shaft of 10cm diameter with a hollow shaft of 10 cmexternal and 5 m intemil
diameter. The ratio of the maximum stresses developed in the sohid and hollow shaftw il be
(1y 1:4 {(2) 1:8 i T - (4y 1 32
[1C P.1.0.
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110 l\“ 1 \r{'ll_ln:i-l =3 ||||_'ldi]|"=. four “'I.I!

i 5 ]
Bulk modulus for a material is 00 (P and its Porssun s

matenal will be 3y 20 GPa (4 240 Gla

i) 120 GPa iy 1ot GiPa

v o lone with cress SCCHOn o

The Euler s bucklhing load For an Alumimom bar

10 mm x 12 mm hineed at both the ends will equal 154 12
o L=
(1) 36 m- 12y T1lm;- RIBEEER.& (4) :

s leaves s knownds

A load apphied at center of the camage sprng to sttaghten .
4y Sate load

iy Yield load () Ulumate load 31 Proof load
. -.r|1'|"'4. m'
A piece of wood having a mass of 4 ke tloats i a qumti of specific granv ity Ry : .

le the hgquid”®

what wall be the speaitic eravaty of the wood prece b 737 abals volume s s

(Assume g = 10 m/s-)
(1y Odgmicm’ (2) O6gmiom’ R

(0N gmvvm: chi O gmiom’

A rectangular plate surface 2 mowade and 4 deep hes mvertical plane mowatet What will
* m below the surface”

be the pressure and center of pressure when the upper edee s o

(Assume g = 10 m/s-)
1600 KN (4y 320kN

(1) BOKN (2) 120kN (1)
What will be volume of water displaced for buovancy for awooden block of width 2 m and

depth I m Density of wooden block 1s 700 kg/m ™ andats fengthas b CASsumie ¢ = = 10 nvs=)
(1y 28m? ) SapE (3) 1 2m! i 224m?

The diameter of a pipe at two sections (section | and section 211s 2 cmand 4 cmerespectively

The velocity through the point at section s S mis the veloaiy at sectuion 2 will equal
(2) 125 wmfs 133 235 mis 4y S0 mis

(1) 10m/s

Water 1s flowmg through a pipe of 5 ¢cm diameter under a pressure ot 0.5 MPaand mean

velocity of 20 m/s What s total head of water at a cross secnon, which 1s 4 m above the

datum level " (Assume g = 10 m/s-)
(1) 455 m 12y 472m (3) 524 m (4) 552m

The basic continuity equation for compressible fluid 15 (Syimbols used have usual meamnes)

AV dA dp

dV dA dp

Yy ottt = (2) =0
V A p 2V 2:'-. I3,
Vo dA dp

(3) VdV +AdA+ pdp=0 (4} {T_+(T+i=0
. P

(MECH)
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74. h.t:_fmrc;: exerted by a jet of water of 40 1mm d
strikes the plate normally with 20 mys velots

(1) 40N 3( '
Orn (2} B0aN L3 1 20N (4 160 TN

ameter on a flat stavonany plate. when the jet

75  Which one of the following 15 false
t1)  Pelton wheel turbine s an avial Now wrbime
(2) It atthe inlet of the wrbine. the energy available 1< only kinetic enerey . the turbine
known as impulse wrbine ' By HUE T2
(3)  Radial flow turbimes are those in which water flow <an the radial direction
(4) InFrancis turbine. the water leaves i the radial direcnon

76  The rotaung part of the centnifugal pump s called
¥
i

(1y Impeller (20 Rowm
(3) Compressor 14 Centmtuge

77. Heating the medium carbon steel o above recr stallizavon wmperature and rapdly cooling
by quenching causes
(11 hardening due to formauon of troosie
(2} anneahing of steel and rehieving ot stiesses
(31 normahzing of steel and formuing of fine aram structure
{41 hardening due to formation of martensite

78  Read the following statements and select the correct answet
al Ferrite is o 1ron ( BCC) which does nothave mane than 0 0255 of carbon in sohd Form

by  Cementte s tron carbide (Fe Crowhich has 66 700 ot carbon
c)  Tempering 1s used for rehieving the internal suesses

(1) Statements a and b are true and ¢ 1s false

(2) Statements a and ¢ are true and bis false

(3) Statements b and ¢ are true and a s false

(1) Statements a. b and ¢ are true

79.  The carbon percentage In eutectond steel s

(1) 0.5% (2) 0.8% (3 12% (4 24%

heat treatment process 1s not.d miethod of case-hardening
(2)  quenching
(41 mducuon hardening

80. Which of the following
(1) nitnding
(3) cyaniding

(MECH) bl
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Section B : General Awareness and Numerical Ability

(O Number O 1 s ssued dunmg the € et Manstership ol
(7 PV Narsnmbha Kao

| I'ﬂ '\ll l H-”H:I I{dfl

Nl
(1) N Sanjeeva Reddy
t3y T Anjarah
K2 Whocreated the Fmblemool Telanganag <tate
it Aandearee

il Alelaxman
[ ST TS BT

i1 Nepkhanna

e i Vi y
X3 06~ 31 =1 732 then the value of \',r 9 + 27 15 el 1o
- '\.I

ily 4330 () 2004 tRy 1 224

K4 The difterence between a two digit number and the number abaned b interc han gl
digits 15 54 What 15 the difference between the sum and the diftere f the digils + 1
number 1f the ratio between the digits of the number 1 13
£ 3 2y 4 o 5 By

85 When a producer allows 34% commussion on the retal price ot this proatuct he carms 107

of 1¥e What would be his profit percent i the commuission s redu cd

i [ S (2) ) 11y 18 1) 3

fohive rrians da

If 20 pumps can ratse 500 gallons of water in 1.2 day s, workinge 6 hrs o das

Xf)
will 12 pumps rarse 2200 gallons of water working 12 hrs aday
i1y 4 {2y 5 RIEL iy 7
87 Through which device the mam components of the compitter communig ate with each ok

(1) SysternBus (21 Keyboand 9 Moo v Memon

{8 Which of the following memory 15 non volaule !
() SR)’\"‘" fu!] IRAM (1 ROA id Al the abwong

9. Microsoft Word 15 an e xample of
(1) AnOperating System
(3)  Processing Device

(2 Apphcation Softw are

Ay System Softw are

(MECH) 14-C
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9).

93

94

95.

100.

(MECH)

BookletCaode -

Operating system 1s most common type of o
-- W are

(1) Applic :
\ pplication (1) ( OMIMUNC igtior
(3) Systemn (4} '

Word Processing type
One compound expression 1s mcorrect. Which one’!

{1) Court Martial (21 Charman Deprny
(3) Poet Laurcate (4 Secretary General

Find correct sequence of sentences

Pollution has been defined

a)  or form of energy o the environment i

by accommodate its dispersion, breakdown, rec yehing or storage in
¢)  arate faster than the environment can

d)  as the addition of any substance

sorne harmless form

(1) acdb (2) dach (3 deab (4, cadh

Why do you always me when [ try to ask a question”

(1) interpose (2) intercede (3) nterfere (4 interrupt
There are several that descnbe the state of being asleep

(1) impressions  (2) expressions  (3)  condiions 4y digressions
— has been appointed as President of Cricket Association of Bengal?

(1)  Aml Kumble {21 Sachin Tendulkar

(3) Ajay Jadeja 4y Souray Ganguly

(known as Metro Man) has been appointed to United Nanons High Level Advison
Group on Sustamable Transpon by UN Scceretary General Ban Ki-moon for three sears

(1) Upendra Tnpathy 12y Sumil Arora
(3) Sanjay Singh (4)  Flanuyalapil Sreedharan

is the Engineer's Day in India [t marks Birthday of Bharat Ratna Mokshagundam
Visvesvarayya’ | _
(1) September 20 (2} January 17 (3 (Niober 21 (4)  September 15
Martin Winterkorn. ( EO of  automobiles resigned”?
(1) Skoda (2 Ford RIBNEREY! 14y Volkswagen

Identify the first sovereign ruler of Kakatiya dynasty
(1) R{I.‘ilhvl (2) Rudramadevt  (3) Ganapathndera ) Mahadeva

! : = Ciolconda king I68TAD
Which Mughal emperor conquered the Goleonda kingdom on
(1) mﬂh‘] > {2y Akbar (})  Shahjahan (4)  Aurangazeb

]
W =

[ T I B R

18-C
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